ON GENERALIZED BIHYPERBOLIC MERSENNE NUMBERS

DOROTA BRÓD, ANETTA SZYNAL-LIANA, RZESZÓW

Received June 18, 2022. Published online March 3, 2023. Communicated by Clemens Fuchs

Abstract. In this paper, a new generalization of Mersenne bihyperbolic numbers is introduced. Some of the properties of presented numbers are given. A general bilinear index-reduction formula for the generalized bihyperbolic Mersenne numbers is obtained. This result implies the Catalan, Cassini, Vajda, d'Ocagne and Halton identities. Moreover, generating function and matrix generators for these numbers are presented.

 $\mathit{Keywords}:$ Mersenne number; hyperbolic number; bihyperbolic number; recurrence relation

MSC 2020: 11B37, 11B39

1. INTRODUCTION

Let **h** be the unipotent element such that $\mathbf{h} \neq \pm 1$ and $\mathbf{h}^2 = 1$. A hyperbolic number z is defined as $z = x + y\mathbf{h}$, where $x, y \in \mathbb{R}$. Denote by \mathbb{H} the set of hyperbolic numbers. The hyperbolic numbers were introduced by Cockle, see [5]–[8].

The addition and subtraction of hyperbolic numbers is done by adding and subtracting the appropriate terms and thus their coefficients. The hyperbolic numbers multiplication can be made analogously as multiplication of algebraic expressions using the rule $\mathbf{h}^2 = 1$. The real numbers x and y are called the real and unipotent parts of the hyperbolic number z, respectively. For others details concerning hyperbolic numbers see for example [12], [13].

The extension of complex numbers to a higher dimension is of interest not only to mathematics but also to modern physics and engineering. Quaternions are one of the well-known sets, however they form a non-commutative algebra.

In [11], Olariu introduced commutative hypercomplex numbers in different dimensions. One of 4-dimensional commutative hypercomplex numbers is called the hyperbolic fourcomplex number. In [12], the authors used the name bihyperbolic numbers.

DOI: 10.21136/MB.2023.0085-22

Note that bihyperbolic numbers are a special case of generalized Segre's quaternions, being a 4-dimensional commutative number system, and they are named as canonical hyperbolic quaternions, see [3]. In this paper, we use the name bihyperbolic numbers. Analogously as bicomplex numbers are an extension of complex numbers, bihyperbolic numbers are a natural extension of hyperbolic numbers to 4-dimension.

Let \mathbb{H}_2 be the set of bihyperbolic numbers ζ of the form

$$\zeta = x_0 + j_1 x_1 + j_2 x_2 + j_3 x_3,$$

where $x_0, x_1, x_2, x_3 \in \mathbb{R}$ and $j_1, j_2, j_3 \notin \mathbb{R}$ are operators such that

(1.1)
$$j_1^2 = j_2^2 = j_3^2 = 1$$
, $j_1 j_2 = j_2 j_1 = j_3$, $j_1 j_3 = j_3 j_1 = j_2$, $j_2 j_3 = j_3 j_2 = j_1$.

The addition and multiplication on \mathbb{H}_2 are commutative and associative. Moreover, $(\mathbb{H}_2, +, \cdot)$ is a commutative ring. For the algebraic properties of bihyperbolic numbers, see [1].

In this paper, we study some generalization of bihyperbolic Mersenne numbers. The Mersenne sequence $\{M_n\}$ is defined by the recurrence

$$(1.2) M_n = 2M_{n-1} + 1 ext{ for } n \ge 1$$

with the initial condition $M_0 = 0$ or

(1.3)
$$M_n = 3M_{n-1} - 2M_{n-2} \text{ for } n \ge 2$$

with $M_0 = 0, M_1 = 1$. The Binet formula for the Mersenne numbers has the form

$$(1.4) M_n = 2^n - 1.$$

Some interesting properties of the Mersenne numbers can be found in [2], [14].

In the literature there are some generalizations of the Mersenne numbers, see [4], [10], [15]. In [10], a one parameter generalization of the Mersenne numbers was investigated. We recall this generalization.

Let $n \ge 0$, $k \ge 3$ be integers, the generalized Mersenne numbers M(k, n) are defined by the recurrence relation

(1.5)
$$M(k,n) = kM(r,n-1) - (k-1)M(k,n-2)$$
 for $n \ge 2$

with the initial conditions M(k,0) = 0, M(k,1) = 1. It is easily seen that $M(3,n) = M_n$.

In [9], the generalized Mersenne quaternion $\mathcal{M}_n^{(p,r,s)}$ was introduced. For an integer n and any integers p, r, s the generalized Mersenne quaternion is defined by

$$\mathcal{M}_{n}^{(p,r,s)} = M_{n} + iM_{n+p} + jM_{n+r} + kM_{n+s},$$

where $\{i, j, k\}$ is the standard basis of quaternions. Motivated by the mentioned concept, in this paper, we introduce and study generalized bihyperbolic Mersenne numbers.

2. Generalized bihyperbolic Mersenne numbers

Let $p \ge 1$, $r \ge 1$, $s \ge 1$, $n \ge 0$ be integers, the *n*th generalized bihyperbolic Mersenne number $BhM_n^{(p,r,s)}$ is defined as

(2.1)
$$BhM_n^{(p,r,s)} = M_n + j_1M_{n+p} + j_2M_{n+r} + j_3M_{n+s},$$

where M_n is the *n*th Mersenne number and operators j_1, j_2, j_3 satisfy (1.1). By (2.1) we obtain

(2.2)
$$BhM_0^{(p,r,s)} = M_0 + j_1M_p + j_2M_r + j_3M_s,$$
$$BhM_1^{(p,r,s)} = M_1 + j_1M_{1+p} + j_2M_{1+r} + j_3M_{1+s},$$
$$BhM_2^{(p,r,s)} = M_2 + j_1M_{2+p} + j_2M_{2+r} + j_3M_{2+s}.$$

For p = 1, r = 2, s = 3 we obtain the definition of the *n*th bihyperbolic Mersenne number $BhM_n^{(1,2,3)}$, i.e., $BhM_n^{(1,2,3)} = BhM_n$.

By the definition of the generalized bihyperbolic Mersenne numbers we get the following recurrence relations.

Theorem 2.1. Let $n \ge 2$, $p \ge 1$, $r \ge 1$, $s \ge 1$ be integers. Then

(2.3)
$$BhM_n^{(p,r,s)} = 3BhM_{n-1}^{(p,r,s)} - 2BhM_{n-2}^{(p,r,s)},$$

where $BhM_0^{(p,r,s)}$, $BhM_1^{(p,r,s)}$ are given by (2.2).

Proof. Using (2.1) and (1.3), we have

$$3BhM_{n-1}^{(p,r,s)} - 2BhM_{n-2}^{(p,r,s)} = 3(M_{n-1} + j_1M_{n-1+p} + j_2M_{n-1+r} + j_3M_{n-1+s}) - 2(M_{n-2} + j_1M_{n-2+p} + j_2M_{n-2+r} + j_3M_{n-2+s}) = M_n + j_1M_{n+p} + j_2M_{n+r} + j_3M_{n+s} = BhM_n^{(p,r,s)}.$$

Theorem 2.2. Let $n \ge 1$, $p \ge 1$, $r \ge 1$, $s \ge 1$ be integers. Then

(2.4)
$$BhM_n^{(p,r,s)} = 2BhM_{n-1}^{(p,r,s)} + 1 + j_1 + j_2 + j_3,$$

where $BhM_0^{(p,r,s)}$ is given by (2.2).

Proof. Using (2.1) and (1.2), we get

$$2BhM_{n-1}^{(p,r,s)} = 2(M_{n-1} + j_1M_{n-1+p} + j_2M_{n-1+r} + j_3M_{n-1+s})$$

= $M_n - 1 + j_1(M_{n+p} - 1) + j_2(M_{n+r} - 1) + j_3(M_{n-1+s} - 1)$
= $M_n + j_1M_{n+p} + j_2M_{n+r} + j_3M_{n+s} - (1 + j_1 + j_2 + j_3)$
= $BhM_n^{(p,r,s)} - (1 + j_1 + j_2 + j_3),$

which ends the proof.

In the proof of the next theorem we will use the following result.

Theorem 2.3 ([10]). Let $n \ge 1$, $t \ge 1$ be integers. Then

$$M_{n+1} - M_n = 2^n$$

Theorem 2.4. Let $n \ge 0$, $p \ge 1$, $r \ge 1$, $s \ge 1$, $t \ge 1$ be integers. Then

$$BhM_{n+1}^{(p,r,s)} - BhM_n^{(p,r,s)} = 2^n (1 + 2^p j_1 + 2^r j_2 + 2^s j_3).$$

Proof. By the equality (2.1) and Theorem 2.3, we have

$$BhM_{n+1}^{(p,r,s)} - BhM_n^{(p,r,s)} = M_{n+1} + j_1M_{n+1+p} + j_2M_{n+1+r} + j_3M_{n+1+s}$$
$$- (M_n + j_1M_{n+p} + j_2M_{n+r} + j_3M_{n+s})$$
$$= M_{n+1} - M_n + j_1(M_{n+1+p} - M_{n+p})$$
$$+ j_2(M_{n+1+r} - M_{n+r}) + j_3(M_{n+1+s} - M_{n+s})$$
$$= 2^n (1 + 2^p j_1 + 2^r j_2 + 2^s j_3).$$

Now, we give the Binet formula for the generalized bihyperbolic Mersenne numbers.

Theorem 2.5 (Binet formula). Let $n \ge 0$, $p \ge 1$, $r \ge 1$, $s \ge 1$ be integers. Then

(2.5)
$$BhM_n^{(p,r,s)} = 2^n(1+2^pj_1+2^rj_2+2^sj_3) - (1+j_1+j_2+j_3)$$

Proof. By the formulas (2.1) and (1.4) we get

$$BhM_n^{(p,r,s)} = M_n + j_1M_{n+p} + j_2M_{n+r} + j_3M_{n+s}$$

= 2ⁿ - 1 + j₁(2^{n+p} - 1) + j₂(2^{n+r} - 1) + j₃(2^{n+s} - 1)
= 2ⁿ(1 + 2^pj_1 + 2^rj_2 + 2^sj_3) - (1 + j_1 + j_2 + j_3).

By Theorem 2.5, we get the Binet formula for the bihyperbolic Mersenne numbers.

Corollary 2.1. Let $n \ge 0$ be an integer. Then

$$BhM_n = 2^n(1+2j_1+4j_2+8j_3) - (1+j_1+j_2+j_3)$$

Assume that $p \ge 1$, $r \ge 1$, $s \ge 1$ are integers.

Theorem 2.6 (General bilinear index-reduction formula for the generalized bihyperbolic Mersenne numbers). Let $a \ge 0$, $b \ge 0$, $c \ge 0$, $d \ge 0$ be integers such that a + b = c + d. Then

$$BhM_{a}^{(p,r,s)} \cdot BhM_{b}^{(p,r,s)} - BhM_{c}^{(p,r,s)} \cdot BhM_{d}^{(p,r,s)} = (2^{c} + 2^{d} - 2^{a} - 2^{b})AB_{c}^{(p,r,s)} - BhM_{c}^{(p,r,s)} \cdot BhM_{d}^{(p,r,s)} = (2^{c} + 2^{d} - 2^{a} - 2^{b})AB_{c}^{(p,r,s)} + BhM_{c}^{(p,r,s)} \cdot BhM_{d}^{(p,r,s)} = (2^{c} + 2^{d} - 2^{a} - 2^{b})AB_{c}^{(p,r,s)} + BhM_{c}^{(p,r,s)} + BhM_{c}^{(p,r,$$

where $A = 1 + 2^{p} j_{1} + 2^{r} j_{2} + 2^{s} j_{3}, B = 1 + j_{1} + j_{2} + j_{3}.$

Proof. By formula (2.5), we get

$$\begin{split} BhM_a^{(p,r,s)} &\cdot BhM_b^{(p,r,s)} - BhM_c^{(p,r,s)} \cdot BhM_d^{(p,r,s)} \\ &= (2^aA - (1+j_1+j_2+j_3))(2^bA - (1+j_1+j_2+j_3)) \\ &- (2^cA - (1+j_1+j_2+j_3))(2^dA - (1+j_1+j_2+j_3))) \\ &= -2^aA(1+j_1+j_2+j_3) - 2^bA(1+j_1+j_2+j_3) \\ &+ 2^cA(1+j_1+j_2+j_3) + 2^dA(1+j_1+j_2+j_3) \\ &= (2^c+2^d-2^a-2^b)AB, \end{split}$$

where $A = 1 + 2^{p} j_{1} + 2^{r} j_{2} + 2^{s} j_{3}$, $B = 1 + j_{1} + j_{2} + j_{3}$.

It is easily seen that for special values of a, b, c, d, by Theorem 2.6, we get new identities for generalized bihyperbolic Mersenne numbers:

 \triangleright Catalan identity (for a = n - m, b = n + m and c = d = n),

- \triangleright Cassini identity (for a = n 1, b = n + 1 and c = d = n),
- \triangleright d'Ocagne identity (for a = n, b = m + 1, c = n + 1 and d = m),
- \triangleright Vajda identity (for a = m + k, b = n k, c = m and d = n),
- \triangleright Halton identity (for a = m + k, b = n, c = k and d = m + n).

Corollary 2.2 (Catalan identity for generalized bihyperbolic Mersenne numbers). Let $n \ge 0$, $m \ge 0$ be integers such that $n \ge m$. Then

$$BhM_{n-m}^{(p,r,s)} \cdot BhM_{n+m}^{(p,r,s)} - (BhM_n^{(p,r,s)})^2 = -2^{n-m}(1-2^m)^2 AB.$$

Corollary 2.3 (Cassini identity for generalized bihyperbolic Mersenne numbers). Let $n \ge 1$ be an integer. Then

$$BhM_{n-1}^{(p,r,s)} \cdot BhM_{n+1}^{(p,r,s)} - (BhM_n^{(p,r,s)})^2 = -2^{n-1}AB.$$

Corollary 2.4 (d'Ocagne identity for generalized bihyperbolic Mersenne numbers). Let $n \ge 0$, $m \ge 0$ be integers such that $n \ge m$. Then

$$BhM_{n}^{(p,r,s)} \cdot BhM_{m+1}^{(p,r,s)} - BhM_{n+1}^{(p,r,s)} \cdot BhM_{m}^{(p,r,s)} = (2^{n} - 2^{m})AB.$$

Corollary 2.5 (Vajda identity for generalized bihyperbolic Mersenne numbers). Let $n \ge 0$, $m \ge 0$, $k \ge 0$ be integers such that $n \ge k$. Then

$$BhM_{m+k}^{(p,r,s)} \cdot BhM_{n-k}^{(p,r,s)} - BhM_m^{(p,r,s)} \cdot BhM_n^{(p,r,s)} = \left(2^m(1-2^k) + 2^n\left(1-\frac{1}{2^k}\right)\right)AB.$$

Corollary 2.6 (Halton identity for generalized bihyperbolic Mersenne numbers). Let $n \ge 0$, $m \ge 0$, $k \ge 0$ be integers such that $n \ge k$. Then

$$BhM_{m+k}^{(p,r,s)} \cdot BhM_n^{(p,r,s)} - BhM_k^{(p,r,s)} \cdot BhM_{m+n}^{(p,r,s)} = (2^m - 1)(2^n - 2^k)AB.$$

In the proof of the next theorem we will use the following result.

Theorem 2.7 ([15]). Let $m \ge 1$, $n \ge 1$ be integers. Then

(2.6)
$$M_{n+m} = M_n M_{m+1} - 2M_{n-1} M_m.$$

Theorem 2.8. Let $m \ge 1$, $n \ge 1$ be integers. Then

$$BhM_{n}^{(p,r,s)} \cdot BhM_{m+1}^{(p,r,s)} - 2BhM_{n-1}^{(p,r,s)} \cdot BhM_{m}^{(p,r,s)}$$

= $BhM_{n+m}^{(p,r,s)} + j_{1}BhM_{n+m+p}^{(p,r,s)} + j_{2}BhM_{n+m+r}^{(p,r,s)} + j_{3}BhM_{n+m+s}^{(p,r,s)}$.

Proof. By simple calculations we have

$$\begin{split} BhM_n^{(p,r,s)} &\cdot BhM_{m+1}^{(p,r,s)} - 2BhM_{n-1}^{(p,r,s)} \cdot BhM_m^{(p,r,s)} \\ &= (M_n + j_1M_{n+p} + j_2M_{n+r} + j_3M_{n+s}) \\ &\cdot (M_{m+1} + j_1M_{m+1+p} + j_2M_{m+1+r} + j_3M_{m+1+s}) \\ &- 2(M_{n-1} + j_1M_{n-1+p} + j_2M_{n-1+r} + j_3M_{n-1+s}) \\ &\cdot (M_m + j_1M_{m+p} + j_2M_{m+r} + j_3M_{m+s}) \\ &= M_nM_{m+1} - 2M_{n-1}M_m \\ &+ j_1(M_nM_{m+1+p} - 2M_{n-1}M_{m+p} + M_{n+p}M_{m+1} - 2M_{n+p-1}M_m) \\ &+ j_2(M_nM_{m+1+r} - 2M_{n-1}M_{m+r} + M_{n+r}M_{m+1} - 2M_{n+r-1}M_m) \\ &+ j_3(M_nM_{m+1+s} - 2M_{n-1}M_{m+s} + M_{n+s}M_{m+1} - 2M_{n+s-1}M_m) \\ &+ M_{n+p}M_{m+1+p} - 2M_{n+p-1}M_{m+p} + M_{n+r}M_{m+1+r} \\ &- 2M_{n+r-1}M_{m+r} + M_{n+s}M_{m+1+s} - 2M_{n+s-1}M_{m+s} \\ &+ j_1(M_{n+r}M_{m+1+s} - 2M_{n+r-1}M_{m+s} + M_{n+s}M_{m+1+r} - 2M_{n+s-1}M_{m+r}) \\ &+ j_2(M_{n+p}M_{m+1+s} - 2M_{n+p-1}M_{m+s} + M_{n+s}M_{m+1+r} - 2M_{n+s-1}M_{m+r}) \\ &+ j_3(M_{n+r}M_{m+1+s} - 2M_{n+r-1}M_{m+s} + M_{n+s}M_{m+1+r} - 2M_{n+s-1}M_{m+r}) \\ &+ j_3(M_{n+r}M_{m+1+s} - 2M_{n+r-1}M_{m+s} + M_{n+s}M_{m+1+r} - 2M_{n+s-1}M_{m+r}) \\ &+ j_3(M_{n+r}M_{m+1+s} - 2M_{n+r-1}M_{m+s} + M_{n+s}M_{m+1+r} - 2M_{n+s-1}M_{m+r}) \\ &+ j_3(M_{n+r}M_{m+1+s} - 2M_{n+r-1}M_{m+s} + M_{n+s}M_{m+1+r} - 2M_{n+s-1}M_{m+r}). \end{split}$$

By the formula (2.6) we get

$$\begin{split} BhM_n^{(p,r,s)} &\cdot BhM_{m-1}^{(p,r,s)} - 2BhM_{n-1}^{(p,r,s)} \cdot BhM_m^{(p,r,s)} \\ &= M_{n+m} + j_1M_{n+m+p} + j_1M_{n+m+p} + j_2M_{n+m+r} \\ &+ j_2M_{n+m+r} + j_3M_{n+m+s} + j_3M_{n+m+s} \\ &+ M_{n+m+p+p} + M_{n+m+r+r} + M_{n+m+s+s} \\ &+ j_1M_{n+m+r+s} + j_1M_{n+m+s+r} + j_2M_{n+m+p+s} \\ &+ j_2M_{n+m+s+p} + j_3M_{n+m+p+r} + j_3M_{n+m+r+p} \\ &= M_{n+m} + j_1M_{n+m+p} + j_2M_{n+m+r} + j_3M_{n+m+s} \\ &+ j_1(M_{n+m+p} + j_1M_{n+m+p+p} + j_2M_{n+m+r+r} + j_3M_{n+m+s}) \\ &+ j_2(M_{n+m+r} + j_1M_{n+m+r+p} + j_2M_{n+m+r+r} + j_3M_{n+m+r+s}) \\ &+ j_3(M_{n+m+s} + j_1M_{n+m+s+p} + j_2M_{n+m+s+r} + j_3M_{n+m+s+s}) \\ &= BhM_{n+m}^{(p,r,s)} + j_1BhM_{n+m+p}^{(p,r,s)} + j_2BhM_{n+m+r}^{(p,r,s)} + j_3BhM_{n+m+s}^{(p,r,s)}, \end{split}$$

which ends the proof.

Now, we give the ordinary generating function for the generalized bihyperbolic Mersenne numbers.

Theorem 2.9. The generating function for the generalized bihyperbolic Mersenne sequence $\{BhM_n^{(p,r,s)}\}$ is

$$g(x) = \frac{BhM_0^{(p,r,s)} + (BhM_1^{(p,r,s)} - 3BhM_0^{(p,r,s)})x}{1 - 3x + 2x^2}.$$

Proof. Let

$$g(x) = BhM_0^{(p,r,s)} + BhM_1^{(p,r,s)}x + BhM_2^{(p,r,s)}x^2 + \ldots + BhM_n^{(p,r,s)}x^n + \ldots$$

be the generating function of the generalized bihyperbolic Mersenne numbers. Hence we have

$$\begin{aligned} -3xg(x) &= -3BhM_0^{(p,r,s)}x - 3BhM_1^{(p,r,s)}x^2 - 3BhM_2^{(p,r,s)}x^3 \\ &- \dots - 3BhM_{n-1}^{(p,r,s)}x^n - \dots, \\ 2x^2g(x) &= 2BhM_0^{(p,r,s)}x^2 + 2BhM_1^{(p,r,s)}x^3 + 2BhM_2^{(p,r,s)}x^4 \\ &+ \dots + 2BhM_{n-2}^{(p,r,s)}x^n + \dots \end{aligned}$$

Using the recurrence (2.3), we get

$$g(x)(1-3x+2x^2) = BhM_0^{(p,r,s)} + (BhM_1^{(p,r,s)} - 3BhM_0^{(p,r,s)})x.$$

Thus

$$g(x) = \frac{BhM_0^{(p,r,s)} + (BhM_1^{(p,r,s)} - 3BhM_0^{(p,r,s)})x}{1 - 3x + 2x^2}.$$

In the next theorem we give a summation formula for the generalized bihyperbolic Mersenne numbers. In the proof we will use the following result.

Theorem 2.10 ([2]). If M_i is the *i*th term of the Mersenne sequence then

(2.7)
$$\sum_{i=0}^{n} M_i = 2M_n - n.$$

Theorem 2.11. Let $n \ge 0$, $p \ge 1$, $r \ge 1$, $s \ge 1$ be integers. Then

$$\sum_{i=0}^{n} BhM_{i}^{(p,r,s)} = 2BhM_{n}^{(p,r,s)} - BhM_{0}^{(p,r,s)} - n(1+j_{1}+j_{2}+j_{3}).$$

 $\Pr{\texttt{oof.}}$ By the definition of the generalized bihyperbolic Mersenne numbers we get

$$\sum_{i=0}^{n} BhM_{i}^{(p,r,s)} = M_{0} + j_{1}M_{p} + j_{2}M_{r} + j_{3}M_{s} + M_{1} + j_{1}M_{1+p} + j_{2}M_{1+r} + j_{3}M_{1+s} + \dots + M_{n} + j_{1}M_{n+p} + j_{2}M_{n+r} + j_{3}M_{n+s} = \sum_{i=0}^{n} M_{i} + j_{1}\sum_{i=0}^{n} M_{i+p} + j_{2}\sum_{i=0}^{n} M_{i+r} + j_{3}\sum_{i=0}^{n} M_{i+s} = \sum_{i=0}^{n} M_{i} + j_{1}\left(\sum_{i=0}^{n+p} M_{i} - \sum_{i=0}^{p-1} M_{i}\right) + j_{2}\left(\sum_{i=0}^{n+r} M_{i} - \sum_{i=0}^{r-1} M_{i}\right) + j_{3}\left(\sum_{i=0}^{n+s} M_{i} - \sum_{i=0}^{s-1} M_{i}\right).$$

By the formula (2.7) we obtain

$$\begin{split} \sum_{i=0}^{n} BhM_{n}^{(p,r,s)} &= 2M_{n} - n + j_{1}[2M_{n+p} - (n+p) - (2M_{p-1} - (p-1))] \\ &+ j_{2}[2M_{n+r} - (n+r) - (2M_{r-1} - (r-1))] \\ &+ j_{3}[2M_{n+s} - (n+s) - (2M_{s-1} - (s-1))] \\ &= 2M_{n} - n + 2j_{1}M_{n+p} - 2j_{1}M_{p-1} + j_{1}(-n-1) \\ &+ 2j_{2}M_{n+r} - 2j_{2}M_{r-1} + j_{2}(-n-1) \\ &+ 2j_{3}M_{n+s} - 2j_{3}M_{s-1} + j_{3}(-n-1). \end{split}$$

Using the formula (1.2), we have

$$\begin{split} \sum_{i=0}^{n} BhM_{i}^{(p,r,s)} &= 2M_{n} + 2j_{1}M_{n+p} + 2j_{2}M_{n+r} + 2j_{3}M_{n+s} \\ &\quad -2j_{1}M_{p-1} - 2j_{2}M_{r-1} - 2j_{3}M_{s-1} \\ &\quad -n + j_{1}(-n-1) + j_{2}(-n-1) + j_{3}(-n-1) \\ &= 2BhM_{n}^{(p,r,s)} - j_{1}(M_{p}-1) - j_{2}(M_{r}-1) - j_{3}(M_{s}-1) \\ &\quad -n + j_{1}(-n-1) + j_{2}(-n-1) + j_{3}(-n-1) \\ &= 2BhM_{n}^{(p,r,s)} - j_{1}M_{p} + j_{1} - j_{2}M_{r} + j_{2} - j_{3}M_{s} + j_{3} - M_{0} \\ &\quad -n + j_{1}(-n-1) + j_{2}(-n-1) + j_{3}(-n-1) \\ &= 2BhM_{n}^{(p,r,s)} - M_{0} - j_{1}M_{p} - j_{2}M_{r} - j_{3}M_{s} \\ &\quad -n(1 + j_{1} + j_{2} + j_{3}) \\ &= 2BhM_{n}^{(p,r,s)} - BhM_{0}^{(p,r,s)} - n(1 + j_{1} + j_{2} + j_{3}). \end{split}$$

At the end, we give matrix representations of the numbers $BhM_n^{(p,r,s)}$. By the equality (2.3) we get the following result.

Theorem 2.12. Let $n \ge 1$ be an integer. Then

$$\begin{bmatrix} BhM_{n+1}^{(p,r,s)} \\ BhM_{n}^{(p,r,s)} \end{bmatrix} = \begin{bmatrix} 3 & -2 \\ 1 & 0 \end{bmatrix} \cdot \begin{bmatrix} BhM_{n}^{(p,r,s)} \\ BhM_{n-1}^{(p,r,s)} \end{bmatrix}.$$

Theorem 2.13. Let $n \ge 0$ be an integer. Then

(2.8)
$$\begin{bmatrix} BhM_{n+2}^{(p,r,s)} & BhM_{n+1}^{(p,r,s)} \\ BhM_{n+1}^{(p,r,s)} & BhM_{n}^{(p,r,s)} \end{bmatrix} = \begin{bmatrix} BhM_2^{(p,r,s)} & BhM_1^{(p,r,s)} \\ BhM_1^{(p,r,s)} & BhM_0^{(p,r,s)} \end{bmatrix} \cdot \begin{bmatrix} 3 & 1 \\ -2 & 0 \end{bmatrix}^n$$

Proof. We use induction on n. If n = 0 then the result is obvious. Assuming the formula (2.8) holds for $n \ge 0$, we shall prove it for n + 1. Using the induction's hypothesis and formula (2.3), we have

$$\begin{bmatrix} BhM_{2}^{(p,r,s)} & BhM_{1}^{(p,r,s)} \\ BhM_{1}^{(p,r,s)} & BhM_{0}^{(p,r,s)} \end{bmatrix} \cdot \begin{bmatrix} 3 & 1 \\ -2 & 0 \end{bmatrix}^{n} \cdot \begin{bmatrix} 3 & 1 \\ -2 & 0 \end{bmatrix}^{n} \\ = \begin{bmatrix} BhM_{n+2}^{(p,r,s)} & BhM_{n+1}^{(p,r,s)} \\ BhM_{n+1}^{(p,r,s)} & BhM_{n}^{(p,r,s)} \end{bmatrix} \cdot \begin{bmatrix} 3 & 1 \\ -2 & 0 \end{bmatrix}^{n} \\ = \begin{bmatrix} 3BhM_{n+2}^{(p,r,s)} - 2BhM_{n+1}^{(p,r,s)} & BhM_{n+2}^{(p,r,s)} \\ 3BhM_{n+1}^{(p,r,s)} - 2BhM_{n+1}^{(p,r,s)} & BhM_{n+2}^{(p,r,s)} \end{bmatrix} \\ = \begin{bmatrix} BhM_{n+3}^{(p,r,s)} & BhM_{n+2}^{(p,r,s)} \\ BhM_{n+2}^{(p,r,s)} & BhM_{n+2}^{(p,r,s)} \end{bmatrix},$$

which ends the proof.

Calculating determinants in the formula (2.8), we obtain the Cassini identity.

Corollary 2.7. For $n \in \mathbb{N} \cup \{0\}$ we have

 $BhM_{n+2}^{(p,r,s)} \cdot BhM_n^{(p,r,s)} - (BhM_{n+1}^{(p,r,s)})^2 = 2^n (BhM_2^{(p,r,s)} \cdot BhM_0^{(p,r,s)} - (BhM_1^{(p,r,s)})^2).$

Corollary 2.8. For $n \in \mathbb{N} \cup \{0\}$ we have

$$BhM_{n+2} \cdot BhM_n - (BhM_{n+1})^2 = -15 \cdot 2^n (1+j_1+j_2+j_3).$$

References

[1]	M.Bilgin,S.Ersoy: Algebraic properties of bihyperbolic numbers. Adv. Appl. Clifford Algebr. 30 (2020), Article ID 13, 17 pages.	zbl MR doi
[2]	P. Catarino, H. Campos, P. Vasco: On the Mersenne sequence. Ann. Math. Inform. 46 (2016), 37–53.	zbl MR
[3]	F. Catoni, D. Boccaletti, R. Cannata, V. Catoni, E. Nichelatti, P. Zampetti: The Mathe- matics of Minkowski Space-Time: With an Introduction to Commutative Hypercomplex Numbers. Frontiers in Mathematics. Birkhäuser, Basel, 2008.	zbl <mark>MR doi</mark>
[4]	M. Chelgham, A. Boussayoud: On the k-Mersenne-Lucas numbers. Notes Number Theory Discrete Math. 27 (2021), 7–13.	doi
[5]	J. Cockle: On certain functions resembling quaternions, and on a new imaginary in algebra. Phil. Mag. (3) 33 (1848), 435–439.	doi
[6]	J. Cockle: On a new imaginary in algebra. Phil. Mag. (3) 34 (1849), 37–47.	doi
[7]	J. Cockle: On the symbols of algebra, and on the theory of tessarines. Phil. Mag. (3) 34	
[0]	(1849), 406-410.	doi
[8]	<i>J. Cockle</i> : On impossible equations, on impossible quantities, and on tessarines. Phil. Mag. (3) <i>37</i> (1850), 281–283.	doi
[9]	A. Daşdemir, G. Bilgici: Gaussian Mersenne numbers and generalized Mersenne quater-	
[10]	nions. Notes Number Theory Discrete Math. 25 (2019), 87–96.	doi
[10]	P. Ochalik, A. Wtoch: On generalized Mersenne numbers, their interpretations and ma- trix generators. Ann. Univ. Mariae Curie-Skłodowska, Sect. A 72 (2018), 69–76.	zbl MR doi
[11]	S. Olariu: Commutative complex numbers in four dimensions. Complex Numbers in n Dimensions. North-Holland Mathematics Studies 190. Elsevier, Amsterdam, 2002, pp. 51–147.	zbl <mark>MR</mark> doi
[12]	A. A. Pogorui, R. M. Rodríguez-Dagnino, R. D. Rodríguez-Said: On the set of zeros of bihyperbolic polynomials. Complex Var. Elliptic Equ. 53 (2008), 685–690.	zbl MR doi
[13]	D. Rochon, M. Shapiro: On algebraic properties of bicomplex and hyperbolic numbers. An. Univ. Oradea, Fasc. Mat. 11 (2004), 71–110.	$\mathrm{zbl}\ \mathbf{MR}$
[14]	A. M. Sergeev: Generalized Mersenne matrices and Balonin's conjecture. Autom. Control Comput. Sci. 48 (2014). 214–220.	doi
[15]	<i>Y. Soykan</i> : A study of generalized Mersenne numbers. J. Progress. Research Math. 18 (2021), 90–108.	

Authors' address: Dorota Bród (corresponding author), Anetta Szynal-Liana, Rzeszow University of Technology, The Faculty of Mathematics and Applied Physics, al. Powstańców Warszawy 12, 35-959 Rzeszów, Rzeszów, Poland, e-mail: dorotab@prz.edu.pl, aszynal@prz.edu.pl.